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SN LAt
M AIIE2 HEIL(sHalra /L4 - 0 E)
el EEE OENE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 325,000
Al 175,000
401 Al HIZL 01| 500,000 300,000 200,000
= 325,000
Al 175,000
01 Al&H| 500,000 300,000 200,000
Obl=gt AN EQIAT| HXIAS(HE)
150,000,000 150,000
=S 97,500
Al 52,500
OZTE ABOIAQILT] HXIAIR(FE)
100,000,000 100,000
== 65,000
Al 35,000
OUZES ASAHHQIAT| HXIAIL(HE)
100,000,000 100,000
=S 65,000
Al 35,000
OZEE ASHNHAAI| EXIAL(TE)
150,000,000 150,000
= 97,500
Al 52,500
sl 22 & =H 588,000 550,000 38,000
201 er23y| 28,000 0 28,000
01 AtR2t2|HI 4,000 0 4,000
ONHENE A2 2 4,000,000 4,000
02 s3=gHl 24,000 0 24,000
ONENE AMdE S32=
24,000,000 24,000
401 Al HIZL 01| 560,000 560,000 10,000
01 Al&H| 560,000 550,000 10,000
oog =2 180,000,000 180,000
ONEZF0EALE 25 2
150,000,000 150,000
oofeheA=+g 29
230,000,000 230,000
HOtEH| 510,000 0 510,000
= 357,000
== 46,000
Al 107,000
401 AIEHIZ SR 0HYI 510,000 0 510,000
= 357,000
= 46,000
Al 107,000




SN LAt
M A)IES OEZA(SMSSA/HLS - 0F)
el EEE OENE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 510,000 0 510,000
OSE~A0HX| 7 ARHIH| At
510,000,000& 510,000
= 367,000
< 46,000
Al 107,000
202248 O EFE300AE (U EE) 3,074,750 2,510,000 564,750
= 2,152,325
< 216,721
Al 645,698
101 @124H| 30,000 0 30,000
s 21,000
== 2,700
Al 6,300
M ORNZZ2NSE S 30,000 0 30,000
OARE 212H| 30,000,000 30,000
= 21,000
S 2,700
Al 6,300
301 2= 5,000 0 5,000
= 3,500
= 450
Al 1,050
11 #AIAHIXIE S 5,000 0 5,000
OXIEEaHM 22 5,000,000& 5,000
[ 3,500
= 450
Al 1,050
403 AXIEHMSAH=Z01d 3,039,750 2,310,000 729,750
[ 2,127,825
= 213,577
Al 638,348
02 SISOt =2 A P E A I 3,039,750 2,310,000 729,750
O0ERE 14 3,039,750,000& 3,039,750
[ 2,127,825
= 213,577
Al 638,348
20238 HELSHSAAIS (ZEE) 1,000,000 0 1,000,000
[ 700,000
= 90,000
Al 210,000
307 elzto| & 500,000 0 500,000
= 350,000




SN LAt
M A)IES OEZA(SMSSA/HLS - 0F)
el EEE OENE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 45,000
Al 105,000
05 2ItRIE = 500,000 500,000
020238 O{EMSASTAS (FEE)
500,000,000& 500,000
= 360,000
< 45,000
Al 105,000
401 Al HIZ 2018 500,000 500,000
= 350,000
[ 45,000
Al 105,000
01 Al&H| 495,000 495,000
020234 OELSHASEIAIS (ZEE)
495,000,000& 495,000
= 346,500
[ 44,550
Al 103,950
03 Al 2CHYI 5,000 5,000
020238 OIEMSASTAIS (FEE)
5,000,000& 5,000
= 3,500
< 450
Al 1,050
20238 {ELSHSAAIL(QEE) 1,000,000 1,000,000
= 700,000
< 90,000
Al 210,000
307 elztol & 500,000 500,000
= 350,000
== 45,000
Al 105,000
05 2IR”tRIE = 500,000 500,000
OB OfEAI ST AL (T E)
500,000,000 500,000
s 350,000
s 45,000
Al 105,000
401 Al HIZL S 0HYI 500,000 500,000
s 350,000
s 45,000
Al 105,000
01 AlZ8| 495,000 495,000




SN LAt
M AIIE2 HEIL(sHalra /L4 - 0 E)
el EEE OENE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02023 OfELSHASEAIS ()
495,000,000& 495,000
= 346,500
[ 44,550
Al 103,950
03 Al 20HHI 5,000 0 5,000
020234 OfELSASEAIE ()
5,000,000& 5,000
= 3,500
& 450
Al 1,050
20238 {ELSHSAAIL (AES) 1,450,000 0 1,450,000
= 1,015,000
< 130,500
Al 304,500
401 Al HIZL 2048 1,450,000 0 1,450,000
= 1,015,000
== 130,500
Al 304,500
01 Al&H| 1,445,000 0 1,445,000
OB OlEA S SA AL (AEE)
1,445,000,000& 1,445,000
= 1,011,500
== 130,050
Al 303,450
03 Al 20HHI 5,000 0 5,000
020234 OELSHASIANE (HEE)
5,000,000& 5,000
= 3,500
& 450
Al 1,050
OE MEESTAY 150,000 150,000
401 AlZHIZ SO 150,000 150,000
01 Al&H| 150,000 150,000
ONE MEHSIAY 150,000,000& 150,000
et 2 M 1,022,140 974,000 48,140
[ 50,000
Il 100,000
== 414,200
Al 457,940
LA 2| (HEALY) 195,000 125,000 70,000
< 167,700
Al 27,300
401 Al HIZL 01| 195,000 125,000 70,000




2A:

X XH -
o=

s 2=l (9 &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 167,700
Al 27,300
01 Al&H| 191,300 121,300 70,000
OLA0Y HatAI(EE)
191,300,000& 191,300
= 164,518
Al 26,782
02 Zeltl 2,800 2,800 0
O2ANE HatAg (HE)
2,800,000 2,800
< 2,408
Al 392
03 Al 2 CHHI 900 900 0
OLA0Y HatA(TE) 900,000 900
= 774
Al 126
SAIE S A (HEALY) 40,000 30,000 10,000
== 12,000
Al 28,000
401 A2 HIRL R 0HbI 40,000 30,000 10,000
[ 12,000
Al 28,000
01 Al&HI 40,000 30,000 10,000
ONAIEl B2 Al (TS
40,000,000& 40,000
= 12,000
Al 28,000
StAtel AIAL 50,000 5,000 45,000
s 15,000
Al 35,000
201 et 3| 10,000 0 10,000
[ 3,000
Al 7,000
01 At2t2lt] 10,000 0 10,000
OZJtAtel P HIAHY 10,000,000 10,000
= 3,000
Al 7,000
301 LEtE N = 40,000 0 40,000
S 12,000
Al 28,000
14 0Bt 2a3 40,000 0 40,000
OZJtAel FHIAE 40,000,000 40,000
== 12,000




SN LAt
B AD|ES OEZA(SMSSA/HLS - 0F)
ool YA B (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 28,000
ORE2F10 A& A& 65,000 100,000 /35,000
== 19,500
Al 45,500
401 Al HIZL S 0HYI 65,000 100,000 /35,000
< 19,500
Al 45,500
01 Al&H| 65,000 100,000 /35,000
o220 AlE X3
65,000,000& 65,000
= 19,500
Al 45,500
SHM D] HAEGHE AXI(MEAIY) 100,000 100,000 0
== 65,000
Al 35,000
401 AIEHIZ SR 0HYI 100,000 100,000 0
< 65,000
Al 35,000
01 Al&H| 100,000 100,000 0
OMUMAD| HAFSIE LXI(He)
100,000,000 100,000
= 65,000
Al 35,000
=g B LMY D| S0{(HEALY) 100,000 100,000 0
== 65,000
Al 35,000
307 212+01& 100,000 100,000 0
[ 65,000
Al 35,000
05 2ItRIE =2 100,000 100,000 0
OXY = AAMY D] =0H(HE)
100,000,000 100,000
= 65,000
Al 35,000
oMl Jatared X3 100,000 100,000 0
[ 50,000
= 15,000
Al 35,000
201 er2 3| 5,000 0 5,000
= 2,500
S 750
Al 1,750
01 At2tltl 5,000 0 5,000




2A:

X XH -
o=

s 2=l (9 &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ool &0 At XI& ZHI ]
5,000,000& 5,000
= 2,500
< 750
Al 1,750
401 AlZHIZ SO 95,000 100,000 25,000
= 47,500
[ 14,250
Al 33,250
01 A&t 95,000 00,000 5,000
OMLMI| HatAre X
95,000,000 95,000
= 47,500
< 14,250
Al 33,250
OgHI= HMel 50,000 50,000 0
= 15,000
Al 35,000
201 er23| 2,000 4,000 22,000
= 600
Al 1,400
01 AtR2t2|HI 2,000 4,000 22,000
O HIIZ Xel 2,000,000 2,000
s 600
Al 1,400
401 AlEHIZL SO 48,000 46,000 2,000
S 14,400
Al 33,600
01 Al&H| 48,000 46,000 2,000
ONgHII= el 48,000,000 48,000
= 14,400
Al 33,600
FOHor HOIS THS ALY 200,000 0 200,000
Il 100,000
= 30,000
Al 70,000
101 @124H| 198,900 0 198,900
) 99,450
& 29,835
Al 69,615
M ORINZZE2NSE S 198,900 0 198,900
OFolict HIl= HSA
1,950,0002 x 122 +8.504 & 198,900

Il

99,450




SN LAt
M MI|ZS O{EXA(SMLSL/EHLS - 0fF)
ool YA B (ol m2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 29,835
Al 69,615
201 B2 AY| 1,100 0 1,100
J| 550
= 165
Al 385
01 AtR2elt] 1,100 0 1,100
OF olicr Hol2 At
1,100,000& 1,100
| 550
= 165
Al 385
SAXSY oA XIZ0l X 20,000 0 20,000
& 10,000
Al 10,000
101 2124 d| 18,000 0 18,000
& 9,000
Al 9,000
M IIZINZ2 2 NS Es 18,000 0 18,000
OEAMXS oiL2tA X0l 2H
450,000 x4F«10& 18,000
= 9,000
Al 9,000
201 LB-2AY| 2,000 0 2,000
& 1,000
Al 1,000
01 At=R2teld| 2,000 0 2,000
OZMXS B XZ0l 23
2,000,000& 2,000
T 1,000
Al 1,000
LF 22 g WA 50,000 0 50,000
405 RHaHE=H| 50,000 0 50,000
01 ML =SEFHSHI 50,000 0 50,000
OLF: 23X ud 7
50,000,000 «1CH 50,000
2Xlde Hel 3,200 4,000 A800
201 LB-2AY| 3,200 4,000 A800
01 AR2teld| 3,200 4,000 A800
OgxI&E Hel 3,200,000& 3,200
o3I 48,940 0 48,940
101 2124l 20,000 0 20,000
MU IIRHNZ2EXsEs 20,000 0 20,000




S LA
- o T

Hu: MJ|ES OEXS(SYHSSL/HL L - O E)

CHol: HYEARH (crel: g)

SA - B CRI(S]) - NISAY - BES A HIm=S2t
QoM D] =HLIL
100,000 x20 103 20,000
201 B2 AY| 28,940 28,940
01 A=R2teld| 16,500 16,500
&l dXt= 9,600,000& 9,600
oO+=AHEE 5 ¢ 4,000,000& 4,000
ox=E s2= s NE 2,400,000& 2,400
OXIgoe 2l 500,000& 500
02 3244l 12,440 0 12,440
OAEE HIIr3 50,0003 *12& 600
oa=Xte 7Ll & A2FH|
3,200,000& 3,200
orMHISE & HIIZ 0t 2
720,000&3 128 8,640
el oty s 2,693,356 3,021,740 A323,384
= 24,128
=) 900,000
T 497,238
Al 1,276,990
HLHAISE 222 55,600 67,000 A11,400
201 B2 AY| 5,600 7,000 A1,400
01 At 2elt] 1,600 2,000 2400
O LHASE S22 HME
1,600,000& 1,600
02 324l 4,000 5,000 A1,000
O LHAIZSE AE=E ARE el=d
4,000,000 4,000
401 AlEHIZLS0HY| 50,000 60,000 A10,000
01 Al&HI 50,000 60,000 A10,000
OHLHASE A= 22l L FRNE=
50,000,000& 50,000
gdtisi ==& 2| 689,500 356,500 333,000
101 214 d| 43,800 147,500 A103,700
M IIRIZ2EXSEs 43,800 147,500 A103,700
Oogdoi==% SFZY|eled 2124H|
39,000,000 39,000
Oggl==& S22 EHI0IH 404 2=
4,800,000& 4,800
201 B2 AY| 62,100 70,000 AT7,900
01 At 2elt] 28,600 32,000 A3,400
ogUti+=E SHI(OOHEDII2})
800,000& 800
ogeoi==% sFZH| 28235 2
10,000,000& 10,000
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2A:

M MI|ZS O{EXA(SMLSL/EHLR - 0fF)
SRl oMY =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 7,238
Al 16,890
307 lztol & 48,256 43,740 4,516
= 24,128
== 7,238
Al 16,890
02 LB HANHEE 48,256 43,740 4,516
ONEMEF20IE MREUHE NZ A
48,256,000 48,256
= 24,128
== 7,238
Al 16,890
HEMZEOE K& 3,200 4,000 A800
201 Eer23 | 3,200 4,000 A800
01 At2t2lt] 3,200 4,000 2800
OCENERFL0E & RUE 222 MX
3,200,000& 3,200
== ord2te| 30,000 35,000 15,000
=S 30,000
401 Al HIZL 01| 30,000 356,000 25,000
= 30,000
01 AlZ8| 30,000 35,000 25,000
Odi ==& e At 30,000,000 30,000
[ 30,000
NEH FUSIHEH 22 & 24 20,000 30,000 10,000
401 Al HIZ S OHbI 20,000 20,000 0
01 A28l 20,000 20,000 0
ONEH FEFIXME AL JHA
20,000,000 20,000
Mo IS XIS [l I X -2 (A& ] 1,800,000 2,000,000 £200,000
s 900,000
== 450,000
Al 450,000
401 AIEHIZ SR HYI 1,800,000 2,000,000 200,000
= 900,000
= 450,000
Al 450,000
01 AlZ8| 1,794,000 2,000,000 206,000
OXZef(AE)MHATHH RN S X7 HHIAS
1,794,000,000& 1,794,000
[ 897,000
= 448,500
Al 448,500
03 AIESTHYI 6,000 0 6,000




2A:

3
HE: A
(o]

MIIES HEZH(SHHLSLHHLL - O E)
el oAty | (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O (AE) R THAH IR M A X7 FHHIAMY
6,000,000 6,000
z 3,000
= 1,500
Al 1,500
MYUMATE NST2 ) (MEAIY) 20,000 30,000 210,000
== 10,000
Al 10,000
307 21201 A 20,000 30,000 210,000
= 10,000
Al 10,000
02 QIHHAAIR B R 20,000 30,000 10,000
OMUYMAZE MKITZ I (2-1EHH|)
20,000,0002 20,000
[ 10,000
Al 10,000
#HY2H B (ah2==4tt) (OI1EHIIE}) 63,240 69,800 26,560
Jl=& 63,240 69,800 26,560
Jl=& 63,240 69,800 26,560
201 P2 | 7,200 8,000 A800
01 Al 22l 7,200 8,000 A800
oL 7,200,0002 7,200
202 01| 51,840 57,600 A5, 760
01 =LHOIHI 51,840 57,600 N5, 760
O2UHEZ0HI 51,840,000 51,840
203 YR 4,200 4,200
M PASHYLTY| 4,200 4,200
ORAN2YLRETY| 350,00024* 122 4,200




